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QUESTION 1

How do you pass parameters to custom code?

A. select references or data to pass as arguments in the Test Details editor pane
B. select references for input as arguments

C. enter strings to pass as arguments

D. select datapool elements to pass as arguments

Correct Answer: A

QUESTION 2

Why would a tester want to substitute a datapool candidate?

A. A new value can be provided for each virtual tester, to ensure more realistic playback.

B. A new value can be captured for each session, to ensure more realistic recording.

C. The data correlation will fail if the candidate is not substituted with the value returned by the server.
D. The datapool will never get filled up with data unless it is connected to the test at playback time.

Correct Answer: A

QUESTION 3

The Response Time Breakdown report shows a table for an aggregation of all instances of a selected page element.
Which two layouts are available? (Choose two.)

A. simple layout

B. hierarchical layout
C. table layout

D. UML layout

Correct Answer: AD

QUESTION 4

Which four steps are required to import the response time breakdown from the production environment to troubleshoot
performance? (Choose four.)

A. select an existing set of execution results in the Performance Test Runs view and right-click for Import Response
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Time Breakdown Data

B. enter the hostname to the Tivoli Monitoring for Composite Application Manager and the authentication information in
the form of user ID andpassword

C. specify the time period to import the data by supplying the start date and time, and end date and time
D. select the data to import by clicking on Import Aggregated Statistics

E. select the policies or traps to import the data

F. specify the response time result data file

Correct Answer: ABCE

QUESTION 5

Which three verification points can be applied at the element level? (Choose three.)
A. Page Title VP

B. Page Content VP

C. Response Size VP

D. Response Code VP

Correct Answer: B
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